Bar Clamps,Arm Type > SRR wENT

T Material Surface | A i [@) Accessories (Hex Socket Head Cap Screws)
Code ype GB Equiv. | Treatment | (Screw) D | RDY01/11/21/31 | RDY02/12/41/51
- 8 M3x10 Tpcs M3x10 Tpcs
RDYO01 Black Oxide| TACO1 10 | M4x12 1pcs M4x12_1pcs
RDY02 | 45 | S45C EeqgeeNae [ TAC21 12 M&x12 Apcs Mdx12 Tpcs -
- P blating 15 | Code [ M&x14 1pcs| Code [ MA4x14 Tpcs p—
RDY21| Selectable | LD31 | A6063 |Black Anodize] TACO1 20 | TACO1| M4x20 1pcs| TAC21[ M4x20 1pcs
i — 25 M5x25 1pcs M5x25 1pcs
RDY41 0Cr18Ni9 | SUS304 TAC21 50 [ MB35 Tpos] B35 Tpos .
RDY11 45 S45C Black Oxide| TACO1 35 M5x35 _1pcs M5x35_1pcs E
RDY12 P e s | TAC21
RDY31 |Configurable] D31 | A6063 |Black Anodize]| TACO1
RDY51 0Cr18Ni9| SUS304 —5 TAC21
(@ If there is requirement of rust prevention, please choose stainless steel materials
or electroless nickel-plated products firstly.
(D Due to the different production batches of products, nickeled products may have
fine sandblasting, which does not affect the size and function.
(D) Dw7 tolerance and verticality are the standards before processing the open slot.
D=8~25 D=30-35 - %3/
0.05 |A
| 005 [&)
E Awz p E _ A2 P
‘<ﬂ. |
oy || |
i L ™ [ 2 | 5
| v 3 ! =
F i \_J i a : [=}
/é}! M/ T Dh7 1.6 | /1A6
5 ®
63 6
6.3 - -
T T i
I I
o 1@ @ 2[|@ |
| — @ |
) d & :
Counterbore d1 ‘ 2-d
Depth h Counterbore d1
=
The first perspective
Part Number P
Code Dwr | Selectable | Configurable Gmmine) | °'%° AJB|EIH I Ma ] h NS
P Selectable 8 | .+0015]| 123050 8 | _0.005 7 12 | 11.5 7 M3 | 35 | 6 3
RDYO01 0 . -0.014
RDY02 10 13 30 50 10~55 10 9 13 |14 9
RDY21 12 | 0018 12 | J0.006 11 15 | 15.5| 10 M 45 7.5 4 _
RDY41 15 | © 19 30 50 15~55 15 [ %97 ] 12 | 19 |16 10.5 ’ ’ 1223
P Configurable | 20 25 50 70 2 2e 20 15 | 25 | 18.5| 13 -
ROYM 25 | *0021| 30 50 70 25 | 9% [ 18 | 30 |22 |17
RDY31 30 35 50 70 30~75 30 21 | 36 | 24519 M5 | 55 | 9 5 |20
RDY51 35 |*9%5| 40 70 90 35~100 35 | 0021 24 | 40 [27.5]215 24
[® Dimension Selectable
Part Number 2 i A
Code | Dur| __Selectable (. @ Discountprice
RDY01.SB 123050 1)
& 10 N
QY251 1330 50 n
Please order
as shown

RDY02—D8—P30



	页 8

